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1 0000 (GaussOO).

(0000000000000 000000000000000.)

0D0000i=+/-100000000.:000000000000000,0000
000000000,000000,00:0000000000000000.

2000000000000000000.0000,000a=a+b6000,00
000 (e,0)0000000,000000000000000COO020000 R?200
0O0010100000. 0000000 R?0CO00000000,00000000
0,000 GaussO OO QOO.

20000 R’0,00000000,000000000000000000000
00000000.000,200000000 (1,0),(0,)00000000 10000
0:00000.00,0000000,00000000000000000000

000000000,000(0000)00000000000000D000000
000000000000 (1,0),(0,1)000000000000000. 000000
0D000000,0000000.000000ROOODOODO.000,0000000
D00ooooooooo.

O00a=a¢+b60000,0000000000000000000 00000
00,|«000. |o=ve?2+02000,000000000.

la]=0 <= *+b* =0 < a=b=0 < a=0.

o 0000OO0OOOOO,0D000000000000DLDD «cODODODOOOOOO0OOd
U000 «000000. 10000000000 DL0O0 0000000000 00O
0000 arga000. (000000 arg0000O0O000OO0.) 0000000 argaO
OOooobobooooo,o00b0db0 ,pUbO0Db0OO00ODOODODOOD.

a=f0 < |o|=|],00 arga = argf + 2mn, In € Z.

O00,000r>0,000eROODODOO0O0O,000 a=r(cosf+ising)0000. O
gbbbd«0bbOboooobbbogg.



O00a=e¢+m000,000000000000 -0 000000 (OO
O0000000,000000000)000,a000. «0@0000000O0O0O
goooooogooooog.

gbobobooogobb,uggobboboadan.

(i) a+B=a+p.

|a8] = |e| 3]
(vii) |a+8<|a|+ |3 (@QOOOD).
(viil) argaf = arga +arg 3+ 2mn, In € Z.

(vi

(ix) 71(cosb +isinby) - ro(cosby + isinby)
= riro(cos(0y + 02) + isin(6; + 6s)).
(x) 00, (cosf+isinh)" = cosnb +isinnf (deMoivreJ O 0O).
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